Corso matematica Data:

TC Espressioni in Z

3-[4-(3-5-4-5)-2]+(~4) =
~4+[3-(2:5-6:3)-2]-(—4) =
(<6+4)* {8-(12-4):[-8—(-5+1)]} =
(~15+35)* {6 (11-5):[-7-(-9+5)]} =
207 -10-[47 - (-2)-3":9] =
[4-5+15-22]2:[15+4~(75)]2=

{— 44:[3? () - 22 -52]}-[23 {(2)'] =
—68—[172-(—4)2]:(—17-4)+53-(—2)3=
[5-3:2% - 162 :(4)2]:[(—3)%2] =

{_[23 :(_2)2] - (*2)4} :[-2 5+11] =

{F13-(2)-(+5) - [(-100 + (-23)-(~4)]} =
{-3-4-5-(-2)} - [-7-333:(-3)] =
{97 ~[o7-(-7?- 2]} [+ (3] =

{[-5* 4?2 -2%5*]-s. (-5)°}-[-82-5] =

Soluzioni

-15

19

40

800

-50

25

-1000

-18

312

105

489




